2. ERlYasTRERF D a—)b

2024 EFNEF = RHGREH—8 GEE] B8 - LER - JTAOS F—AR—JICRRSWZBEECLTREOC L,  2024F7H8H
SazThE— 20248 A27THEH
et »7=00] Point] 77 215 | K282 (FEA) AR [E=xas 5%
= r B — =4 EE =
jop |B2OEIAT Y I XA =7 14023 e T [3/9,10 2/17~2/26 | 3/a |CIEEEEE ?EUMUU 3/23-26(&1)
¥ 2 =7U14U12 u12|Go4 DUNLOP£EEkU14U12 5/16-19(F 3£ 48)
Jop|VI6F 2 =TT LT =F =T | i6lcozloped s |3/23.24.(25) 3/2~3/11 | 3/18
s N L |3/23(24) e FE6/8-10(KR%),9/21R#(Z L)
JO3|ANIB /S sE = U12) G19| & 3/2~3/11 |3/18
BNRAFERFEAS 12) Wi - T8 |3/30,31,(4/1) /2~3/ N8| e mk > = xR FHEAL/T-11( )
oo, [3/26.27,(28) LE#S 2 = 7U18U16 7/12-18(18 )
PaN | /g\ AN 1 % . — 75
Jou iElzter\z:‘HLrj:\E\\U 8 V18| Ga | am| BRI 14/13,14 3/o~3/11 | 3/18 [EEAY 2 =77 = R#FH8/26-9/4( )
(v IR ZBTILR) maEs - RIL |4/27,28,29,5/3,4
KO - *Ik |5/5(11,12384t)
22 AN
Jo5|V18% 2 = TBIEAR uls|Glo|izE| ®EE  |3/29,31,(4/1) 3/2~3/11 | 3/18
JOB|ANESHERRT XL 7ILAKRE  |U18) — |&A| ik -BEs |4/2,3 3/9~3/18 [3/25?
2] PAN N — _ po
2 AHIEEL2ULS \ wmEm |4/6,7(13,14) 4/1 MU_FQ;/JH U16 4/9 4/13(_%[1)
Jo7 (oo A - HT IR U16 | G6 |7E| 7888 - Ik |4/27,28,29,5/3,4 3/9~3/25 JLEMY 2 = 7U18UL6 7/12-18(:&F)
e RO - &0k |5/5(11,12950) SHAY 2 =77 = REFIES/26-9/4( )
S AANEEBASULLUL2 U14|G16 ‘ FEEs |4/6,7(13,14) 4/1 [ALfE#Es 2 =7 UL4U12 7/22(#8)23-28(29) GRIE)
Jos (o PR HF IR U12 |G19|&A| Fask - Ik |4/27,28,29,5/3,4 3/9~3/25 LAY 2 ZTF T REFHES/26-9/4( )
7 =00 - /0 |5/5(11,12984t)
JO9|UL0R/IIEXRE uio| — | — @& [5/18(19) 4/27~5/6 |5/13
1o PEREMUISENRAR(X 7L R) 15— pml A |5/11,12 4/20~4/29 | 5/6 |hEEFILEBARI/13-16(F10)
hEARUIAIIBRE(S v 7 ILR) 67| | @& - ®O |6/22.23@m.2930(=0) | 6/1~6/10 | 6/17 | b MRAEEEK10/29-11/3(GEME)
£
11 |RSKARE B A2 13| c1sl e kIE  |5/25,(26) 5/4~5/13 5/20 [RSKALIE#:9/6-8(FafR) 2 E10/18-20(F L)
{m| 6/1,2,(29,30)
J12|play+stay F1[H - - k5 |5/26 5/4~5/13 | 5/20
JIBIUI8Y 2 =7 F v L v ¥ v — 518 U18|G20| 78| - 7R |8/7,8,9,(12) 7/13~7/22 | 7/29 |2 E S & 1£8/2-8(K %)
JI4|B Y 1 = 7 F — L EkE vig| — | & Wi 8/10,11,(12) 7/13~7/22 | 7/29
15| D EERER)|BEES (U18) G4 |&A Ea 8/12,13 7/20~7/29 | 8/5 |E{K9/21-24({£8)
116 [HEST=FF U5 |62t %A R [8/23:24,25 21875 | 842 |U15U13 2 =7 F v L v Y v —%&UL4IC
J17 [ 3 a=FF v Ui3|623|%E  BwHB |8/3L94 8/H0—~8/19 | 8/26 |z L % L 7=(2024/7/8)
ﬁj UldV2=FF vl v dv— Ul4|e23|mE|  mm o |8/31,9/1 7/27~8/5 | 8/12
BT F e - BB |8/3Ho/AEE) 8726 [ OCILIEHIAR10/25-27(RE)
18 U8 | 64 | & 8/16—~8/19
—EHHERS EH |2 JOCERAARY 2 = 7EKRENL1/21-24(E)
JI8[JOCY a=F7Hu vy s hy 7RNEXRS | U18| G4 [E|  FIE  |8/22,23,24,25 7/271~8/5 | 8/12
JIOMUFGY 2 =7 F = ZAJIIEkE Ule*| G6 |#7E|  #Eb |10/12,13,14 (26) 9/21~9/30 | 10/7 [2025/4/xx MUFGEERE kAR
J20(U18Y 2 =7 F v L v v — 528 U18|G20| B |10/14, 26(27) 9/21~9/30 | 10/7
J21|play+stay Z2[E] - - # o |10/26 10/5~10/14|10/20
2E®ERY 2 = 7U14U12 * 10/19~ - SHAL (T
122 SEEKRY 2 =7 U14*|G16 o % |11/9.1016 (17) / 11/4 |2025/3/2x-xxdLEHAE (L)
BNBRFRAR U12*|G19 10/28 2025/5/xx 2EAS
123|U18Y 2 =7 F v L v ¥ v — 53 uis|Gio|#El —#Hide  |11/16,17,23,(24) 10/26~11/4|11/11
* FRE
2024FEEREHT TV R 2024EEREHT IR [FiLE]
U18 : 20061 B1ALIEICAE E i U18 : 20071 B 1A LBEICAE E T
U16 : 200818 1HURICE EN/=E U16 : 200918 1HUEICE EN =%
U14 : 20101 B1ALBEICAE E i Ul4 : 20111 B1BLBEICE E T
Ul12 : 201218 1HURICE E Nz U12 : 201318 1HUBRICE ENz%E
U10 : 20141 B1ALBEICAE E i U10 : 201561 B1ALBEICAE E T
BIEASTIEMUFG & £EEKRUL4UL2A
2025 FEREDI-HIFREE LY £
ERSUADERERE »r=] Point] =7 215 = HE (FiHAH) BOAHAR  [Exas 5%
) |[BINBRFET = EFHE (BAE) |ULs) 67 (2B @H  [4/20,21 3/30~4/8 | 4/15 |defEMrRF4E5/24~26 (K [H)
=) | EREEAE (U18) G10| 8| itk -m0[4/20,21,27 — — |2E$FE8/18-21(F /)
h) [hRESRTES (u1s) — | — Ep 5/17,(19) — —
=) | SRR (U18) G4 | — | we=x  [5/30,31,6/1,2,(3) - —  |du{EHRAR6/14-16(FA &)
) | RRERBE, IMEMKX - EEHX  |(U1s) — | — e 16/15,16(17) - — |JufE#rh /24~ 26(FM) BlAE;7/29.30
?@%@%E%ﬁwﬁké - = =O 7/6,7 - -
) | B ERZERET = EFEFE) |U1s) — | — it |7/13,14,15 - —  |dfEhFERKES/2,(3) (B 1L &)
) | REiAE R AR 1) — | = | mm-%s [8/17,18,19,(20) — —
=) | Ba i A 1) 65| — | m#m-kn |9/26,27,28 (10/5) - — |SRRikILE#10/18-20(f8H)
) | SRR A (uis) — | — #Hi  |10/5,6 — — |[defE#chsE(11/2,3 Bil)
=) | EHR &7 L= (U18) — | — | #dt-F i |11/2,3,9,10 — —
EINEEIR= N (uig) — | — (10B~118Z%) - -




